Svenska Bridgeférbundet
X - SM Lag 2022 - Semifinal - Match 1:2

IMP o6ver faltet, 60 bord, 116 par. Antal brickor: 12.

Plac

Poang

3.59
2.81
2.59
2.59
2.44
2.08
1.93
1.90
154
151
1.47
1.43
1.40
1.35
1.33
1.27
1.26
1.24
1.17
1.15
1.13
1.07
1.04
1.02
1.00
0.96
0.95
0.93
0.92
0.87
0.86
0.85
0.83
0.82
0.80
0.76
0.73
0.68
0.65
0.60
0.59
0.54
0.51
0.51
0.49
0.45
0.45
0.42
0.37
0.35
0.32
0.29
0.23
0.21
0.16
0.13
0.13
0.08
-0.08
-0.13
-0.13
-0.16
-0.21
-0.23
-0.29
-0.32
-0.35
-0.37
-0.42
-0.45
-0.45
-0.49
-0.51
-0.51
-0.54
-0.59
-0.60
-0.65
-0.68
-0.73
-0.76
-0.80
-0.82
-0.83
-0.85

Namn

Lars Kennethsson - Per Jansson
Fredrik Mirhag - Par Andersson
Pontus Karlsson - Michael Karlin
Markus Hedstrém - Torbjérn Olsson
Hans Brolin - Jaenita Johansson
Niklas Warne - Krister Ahlesved
Jonas Petersson - Johan Sylvan
Torbjorn Arffman - Sven-Bertil Odelmark
Daniel Eriksson - Rune Pettersson
Erik Fryklund - Johnny Blid

Jan Selberg - Olle Wademark

Bjorn Andersson - Tommy Andersson
Henrik Malmsten - Klaus Claassen
Jimmy Herrdin - Magnus Hultman
Jan Wistrom - Marie Ynner

Kjell Karlsson - Tommi Ramstedt
Jan Gutenwik - Perry Sjoberg

Rolf Staflund - Rolf Nyman

Anders Blomaqyvist - lvar Holmquist
Lars Moquist - Gerth Hermansson
Eric Arvidsson - Karl Asplund
Castor Mann - Linus Dahlstrém

Peter Bertheau - Margareta B. E. Eriksson

Hakan Svensson - UIf Westlin

Joakim Méller - Peter Svensson
Per-Ingvar Skoglund - Vera Gemrud
Jan Unosson - Tage Bengtsson

Olof Bergstrém - Jan-Erik Thomasson
Carsten Kofoed - Thomas Winther
Sara Asplund Sivelind - Daniel Sivelind
Jorgen Lantz - Kaj Toivosson

Kent Lundstrom - Mattias Forss

Jan Becklén - Bjorn Fallenius

Staffan Hed - Mikael Blomqvist

Bo Sundell - Morgan Svensson

Lars Goldberg - Ullabritt Goldberg
Robert Frank - Johan Goéransson

Ida Gronkvist - Mikael Gronkvist
Kenneth Borin - Bosse Wiik

Urban Finnsson - Bengt-Géran Olofsson
Anders Fryklund - Valter Johansson
Mats Bud - Mikael Alexandersson
Bengt Bylund - Ingemar Hjalmarsson
Maria Gronkvist - Catharina Ahlesved
Anders Landmark - Leif Lundberg
Viktor Andréasson - Christian Leo
Lennart Fredriksson - Torkel Petersson
Gunnar Andersson - Lars Ramquist
Per Ostlund Mitchell - Robert Back
Gullvi Hogberg - Séren Lennartsson
Martin Mellgren - Fredrik Wahlberg
Jan Nilsson - Tommy Gunnarsson
Thore Sdderlund - Benny Appelgvist
Patrik Johansson - Stefan Jonsson
Leif Trapp - Olle Axne

Tom Gards - Niclas Samuelsson
Johan Karlsson - Johannes Matsson
Ylva Pyykko - Anders Erikson

Anette Svenningsson - Lars Wallmark
Bjorn Westling - Bengt Alrud

Tatyana Trendafilova - Fredrik Jarlvik
Thomas Karlsson - Alexander Sandin
Bjorn Ohlsson - Peter Olofsson
Pernilla Andreasson - Pierre Winberg
Thomas Samuelsson - Hugo Jérgensen
Simon Hult - Dennis Bilde Cilleborg
Lars Andersson - Tommy Bergdahl
Petra Svantesson - Lennart Johansson
Peter Backstrand - Jérgen Wallmon
Elisabeth Stanley - John-Erik Hornfeldt
Peter Fredin - Jan Clementsson

Ola Rimstedt - Mikael Rimstedt

Bengt Lennartsson - Stig Magnusson
Karl-Erik Backelin - Mikael Skoog
Ronny Ovesson Ejnell - Jan-Erik Asmo
Nils Ahlén - Leif Ruthstrém

Tomas Bergqvist - Mikael Hjerm
Gunnar Nilsson - Hakan Ottosson
Monica Nas - Kenneth Fredriksson
Gote Berntsson - Henrik Wegnelius
Inge Magnusson - Leif Johansson
Sven-Erik Hallkvist - Carina Hallkvist
Roger Nyman - Anders Dellien

Martin Johnsson - Jérgen Andersson
Robert Larsson - Mats Johansson
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86 B302 -0.86 Teo Bodin - Tuva Nilsmark 36833 65447
87 M2 -0.87 Bengt-Erik Efraimsson - Mats Axdorph 127 2053
88 R101 -0.92 Arne Ericson - Per Bretz 12242 894
89 C201 -0.93 Mikael Arnberg - Tomas Borgesson 24686 1073
90 Q3 -0.95 Suzanne Lemborn - Eva Gunnarsson 14984 12598
91 E202 -0.96 Nils-Ragnar Sandberg - Gabor Barath 614 916
92 N101 -1.00 Hans Kvick - Per-Arne Karlsson 2878 1246
93 12 -1.02 Stefan Budin - Tin Budin 11046 11043
94 L302 -1.04 Leif Norén - Anders Enstrém 10752 13338
95 A202 -1.07 Leif Johansson - Lena Johansson 18448 15309
96 N302 -1.13 Per Leandersson - Peter Carlsson 87992 11594
97 B303 -1.15 Britt Cufiat - Morgan Larsson 7921 2752
98 J303 -1.17 Gunnar Schéfer - Gun-Britt Rindstal 20696 7974
99 M201 -1.24 Christer Eriksson - Thomas Ivarsson 9292 6659
100 Q202 -1.26 Rolf Back - Jim Albertsson 8794 3924
101 S202 -1.27 Per Magnusson - Magnus Cassel 55622 41676
102 F102 -1.33 Agneta Svahn - Tomas Gustavsson 626 607
103 T102 -1.35 Lars-Erik Moberg - Andrzej Luczynski 8593 81105
104 H303 -1.40 Tommy Svensson - Leif Andréasson 7520 7519
105 02 -1.43 Peggy Nyholm - Urban Mentzer 51632 11111
106 N303 -1.47 Peter Kennerfalk - Lars Nilsson 7397 50311
107 D301 -1.51 Hakan Straaf - Mats Sjoberg 1161 1198
108 M3 -1.54 Lars-Inge Rehnstrom - Anders Ekstrom 6717 11674
109 J101 -1.90 Leif Bremark - Fredrik Nystrém 11042 18356
110 Gl -1.93 Per Larsson - Christian Carlsson 10701 9498
111 S1 -2.08 Pernilla N&s - Asa Axne 10428 83573
112 D103 -2.44 Tobias Bern - Klara Gustafsson 66187 67625
113 S203 -2.59 Roger Persson - Per-Arne Friberg 47020 21206
114 T103 -2.59 Kurt Karlsson - Jarl Hallber: 1579 1648
115 0203 -2.81 Lennart Ekholm - Christer Astrom 50946 38022
116 B101 -3.59 Bengt Lundberg - Kjell Glans 7466 15295
13 « D873 Bésta kontrakt 14 «D3 Basta kontrakt
Nord vKn974 3¢ N =110 Ost v 1096543 54 OD-1100
Alla + K95 Ingen ¢ E
K10 & ¢ v & NT #E1093 & ¢ v &N
& KKn65 & E92 N6 9877 4 E8742 4 Kn965 N 116 8 3 6
v E86 v 1032 S6 9877 v EK2 v DKn7 S 116 8 3 6
¢+ Kn7 + D103 06 45675 4 DKn + K10843 027 5 106
&#Kn732 #D964 V745605 &#K52 &4 V2 75 107
+104 « K10
v KD5 v8
+ E8642 497652
&E85 #DKn876
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F102 F302 1INO-3 2 300 260.0 -260.0 G2 G202 54DN = 46 550 747.0 -747.0
P102 P302 INS +4 46 210 142.0 -142.0 13 1203 44D N = &4 510 739.0 -739.0
C1 C201 2N S +2 46 180 93.0 -93.0 K2 K202 44 N +1 »4 150 520.0 -520.0
G2 G202 2N N +2 46 180 93.0 -93.0 Q2 Q202 4% N +1 &3 150 520.0 -520.0
K2 K202 1IN S +3 45 180 93.0 -93.0 L102 L302 44 V-1 a2 50 441.0 -441.0
A3 A203 INS+3 46 180 93.0 -93.0 H103 H303 54 V-1 &A 50 441.0 -441.0
D101 D301 INS+3 46 180 93.0 -93.0 D101 D301 2v N-1 »4 -50 354.0 -354.0
J101 J301 INS+3 46 180 93.0 -93.0 N101 N301 2v N-1 &3 -50 354.0 -354.0
R101 R301 INS+3 46 180 93.0 -93.0 A3 A203 5#D N -1 vQ -100 294.0 -294.0
J102 J302 2N S +2 a5 180 93.0 -93.0 Q1 Q201 1INV +1 v6 -120 248.0 -248.0
N102 N302 1IN S +3 45 180 93.0 -93.0 B103 B303 1INV +1 vT -120 248.0 -248.0
T102 T302 INS+3 46 180 93.0 -93.0 El E201 24 V +2 va -170 184.0 -184.0
11 1201 1NN +2 a5 150 37.0 -37.0 Gl G201 24 V +2 *A -170 184.0 -184.0
S2 S202 1IN S +2 45 150 37.0 -37.0 S3 S203 24 V +2 ¢ A -170 184.0 -184.0
K3 K203 1IN S +2 46 150 37.0 -37.0 J101 J301 24 V +2 ¢ A -170 184.0 -184.0
H101 H301 INS+2 46 150 37.0 -37.0 B102 B302 34 V +1 *A -170 184.0 -184.0
L102 L302 1IN S +2 2 150 37.0 -37.0 R102 R302 34 V+1 v5 -170 184.0 -184.0
R102 R302 INS+2 +J 150 37.0 -37.0 Al A201 44 V= va -420 -144.0 144.0
F103 F303 2N S +1 v6 150 37.0 -37.0 C1 C201 4a V= vT -420 -144.0 144.0
H103 H303 1IN S +2 v8 150 37.0 -37.0 11 1201 44 O= va -420 -144.0 144.0
J103 J303 INS+2 +J 150 37.0 -37.0 K1 K201 44 V= vT -420 -144.0 144.0
Al A201 1v N +2 v3 140 35.0 -35.0 M1 M201 4e V= v9 -420 -144.0 144.0
El E201 2v N+1 v2 140 35.0 -35.0 S1 S201 44 V= *A -420 -144.0 144.0
K1 K201 1v N +2 *6 140 35.0 -35.0 A2 A202 44 V= ¢ A -420 -144.0 144.0
M1 M201 2v N +1 v3 140 35.0 -35.0 Cc2 C202 44 O= v3 -420 -144.0 144.0
S1 S201 2v N +1 v2 140 35.0 -35.0 E2 E202 44 V= va -420 -144.0 144.0
Q2 Q202 2v S+1 +J 140 35.0 -35.0 12 1202 44 V= ¢ A -420 -144.0 144.0
13 1203 2v N +1 *6 140 35.0 -35.0 M2 M202 4a V= v6 -420 -144.0 144.0
Q3 Q203 1v N+2 LY 140 35.0 -35.0 02 0202 44 V= *A -420 -144.0 144.0
L101 L301 2v N +1 v2 140 35.0 -35.0 C3 C203 44 O= &*Q -420 -144.0 144.0
L103 L303 2v N +1 &3 140 35.0 -35.0 E3 E203 44 V= ¢ A -420 -144.0 144.0
P103 P303 2v N +1 *6 140 35.0 -35.0 G3 G203 44 V= v9 -420 -144.0 144.0
T103 T303 2v N+1 *6 140 35.0 -35.0 K3 K203 44 V= vT -420 -144.0 144.0
E3 E203 INS+1 46 120 -17.0 17.0 M3 M203 4e V= ¢ A -420 -144.0 144.0
03 0203 INS+1 45 120 -17.0 17.0 03 0203 44 V= vT -420 -144.0 144.0
S3 S203 INS+1 »2 120 -17.0 17.0 Q3 Q203 44 O= &A -420 -144.0 144.0
T101 T301 INN+1 *6 120 -17.0 17.0 B101 B301 44 V= v9 -420 -144.0 144.0
Cc2 C202 2y N= LY 110 -23.0 23.0 F101 F301 44 V= va -420 -144.0 144.0
E2 E202 2¢ S+1 »3 110 -23.0 23.0 H101 H301 44 V= *A -420 -144.0 144.0
12 1202 2v N = &4 110 -23.0 23.0 L101 L301 4a4 V= *A -420 -144.0 144.0
M2 M202 2v N = *6 110 -23.0 23.0 R101 R301 44 V= *A -420 -144.0 144.0
G3 G203 2v N= *6 110 -23.0 23.0 T101 T301 44 V= v6 -420 -144.0 144.0
M3 M203 2¢ S+1 &3 110 -23.0 23.0 D102 D302 44 V= vT -420 -144.0 144.0
F101 F301 2v N= v2 110 -23.0 23.0 F102 F302 44 V= va -420 -144.0 144.0
N101 N301 2v N= &6 110 -23.0 23.0 H102 H302 44 V= *A -420 -144.0 144.0
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D102 D302 1v N +1 &4 110 -23.0 23.0 J102 J302 4e V= ¢A -420 -144.0 144.0
D103 D303 2v N= v2 110 -23.0 23.0 N102 N302 4e V= *A -420 -144.0 144.0
R103 R303 2¢ S+1 v6 110 -23.0 23.0 P102 P302 44 V= *A -420 -144.0 144.0
02 0202 INO-1 *2 100 -40.0 40.0 T102 T302 4e V= ¢A -420 -144.0 144.0
B102 B302 2& O -1 oT 100 -40.0 40.0 D103 D303 44 V= *A -420 -144.0 144.0
Q1 Q201 INS= »6 90 -73.0 73.0 J103 J303 4e V= v2 -420 -144.0 144.0
A2 A202 INS= &3 90 -73.0 73.0 L103 L303 44 O= v8 -420 -144.0 144.0
B103 B303 INN= &4 90 -73.0 73.0 N103 N303 4e V= *A -420 -144.0 144.0
N103 N303 INS= &5 90 -73.0 73.0 P103 P303 44 V= *A -420 -144.0 144.0
Gl G201 INS-1 &2 -100 -318.0 318.0 R103 R303 44 V= vT -420 -144.0 144.0
C3 C203 INN-1 &6 -100 -318.0 318.0 T103 T303 4e V= v5 -420 -144.0 144.0
B101 B301 2N S-1 &3 -100 -318.0 318.0 S2 S202 44 V+1 *A -450 -197.0 197.0
H102 H302 3NN -2 &6 -200 -438.0 438.0 F103 F303 44 V+1 ¢A -450 -197.0 197.0
15 4103 Basta kontrakt 16 #1094 Basta kontrakt
Syd v EK2 4v V D -3 500 Vast v DKn65 34 V =-140
NS + KKn63 oV ¢ DKn2
#K1092 & ¢ v & NT &K102 & ¢ v &N
4975 & EKn64 N 10106 8 9 4 EKNn765 «D8 N3 46 46
v1095 v DKn7643 S 109 6 7 9 v2 v 10987 S34646
+E4 + D82 033753 + 1096 + EK73 099797
87654 &- V33743 &#EDKN6 %983 V99797
& KD82 & K32
v8 v EK43
+ 10975 + 854
&#EDKnN3 &754
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
N102 N302 3NN +2 a5 660 522.0 -522.0 S3 S203 2NO-1 v3 100 344.0 -344.0
Al A201 3NN +1 vl] 630 496.0 -496.0 T101 T301 INO-1 vA 100 344.0 -344.0
Q1 Q201 3NN +1 46 630 496.0 -496.0 P102 P302 2¢ O-1 *4 100 344.0 -344.0
C3 C203 3NN +1 v7 630 496.0 -496.0 M2 M202 INO= vA -90 85.0 -85.0
D101 D301 3N N +1 s A 630 496.0 -496.0 03 0203 INO = vA -90 85.0 -85.0
K1 K201 3NN= 46 600 471.0 -471.0 B102 B302 INO = v3 -90 85.0 -85.0
M1 M201 3NN = vQ 600 471.0 -471.0 F102 F302 INO= vA -90 85.0 -85.0
G2 G202 3NN= v3 600 471.0 -471.0 T103 T303 INO= v5 -90 85.0 -85.0
Q2 Q202 3N N-= v3 600 471.0 -471.0 Q2 Q202 2v S-2 +9 -100 62.0 -62.0
S2 S202 3NN= v6 600 471.0 -471.0 J101 J301 INO+1 vA -120 41.0 -41.0
A3 A203 3NN = a4 600 471.0 -471.0 T102 T302 INO+1 v3 -120 41.0 -41.0
03 0203 3NS= v6 600 471.0 -471.0 J103 J303 2N O = v4 -120 41.0 -41.0
H102 H302 3NN= 46 600 471.0 -471.0 R103 R303 1N O +1 v3 -120 41.0 -41.0
T102 T302 3NN= 46 600 471.0 -471.0 Al A201 24 V +1 a4 -140 -9.0 9.0
B103 B303 3NN= vQ 600 471.0 -471.0 Gl G201 24 V +1 vQ -140 -9.0 9.0
J103 J303 3NN= v2 600 471.0 -471.0 11 1201 24 O +1 vQ -140 -9.0 9.0
N103 N303 3NN= 46 600 471.0 -471.0 M1 M201 24 V +1 49 -140 -9.0 9.0
P103 P303 3NN= 46 600 471.0 -471.0 S1 S201 24 V+1 T -140 -9.0 9.0
F101 F301 5¢vDO-3 *T 500 377.0 -377.0 c2 C202 24 V+1 T -140 -9.0 9.0
H103 H303 4vD O -3 v8 500 377.0 -377.0 E2 E202 24 V +1 vQ -140 -9.0 9.0
E1l E201 4vDO -2 v8 300 221.0 -221.0 G2 G202 24 V +1 LY -140 -9.0 9.0
11 1201 4vD O -2 *T 300 221.0 -221.0 12 1202 24 V +1 vQ -140 -9.0 9.0
E2 E202 4vD O -2 T 300 221.0 -221.0 K2 K202 24 V +1 +Q -140 -9.0 9.0
K3 K203 4vD O -2 &K 300 221.0 -221.0 02 0202 24 O+1 vA -140 -9.0 9.0
S3 S203 4vD O -2 *T 300 221.0 -221.0 S2 S202 24 V+1 T -140 -9.0 9.0
12 1202 3N N-1 v3 -100 -181.0 181.0 G3 G203 24 V +1 vlJ -140 -9.0 9.0
H101 H301 3NN-1 v4 -100 -181.0 181.0 D101 D301 24 V+1 v6 -140 -9.0 9.0
T101 T301 4NN-1 vQ -100 -181.0 181.0 F101 F301 24 V+1 v6 -140 -9.0 9.0
L102 L302 5¢ N-1 vQ -100 -181.0 181.0 L101 L301 24 V +1 vQ -140 -9.0 9.0
P102 P302 3NN-1 vQ -100 -181.0 181.0 N101 N301 24 V+1 vQ -140 -9.0 9.0
R102 R302 3NN-1 v4 -100 -181.0 181.0 D102 D302 24 V +1 vQ -140 -9.0 9.0
D103 D303 5# S-1 v5 -100 -181.0 181.0 L102 L302 24 O +1 *2 -140 -9.0 9.0
L103 L303 3N N-1 v3 -100 -181.0 181.0 R102 R302 24 V+1 vQ -140 -9.0 9.0
A2 A202 5& N -2 +3 -200 -292.0 292.0 B103 B303 24 V+1 49 -140 -9.0 9.0
K2 K202 5& S -2 v3 -200 -292.0 292.0 F103 F303 24 V +1 T -140 -9.0 9.0
M2 M202 5¢ S-2 v5 -200 -292.0 292.0 N103 N303 24 V +1 T -140 -9.0 9.0
02 0202 3NN -2 v6 -200 -292.0 292.0 C3 C203 3v N-3 vT -150 -12.0 12.0
13 1203 3N N -2 v7 -200 -292.0 292.0 M3 M203 2v N -3 vT -150 -12.0 12.0
M3 M203 3N N -2 46 -200 -292.0 292.0 H101 H301 1IN O +2 +8 -150 -12.0 12.0
N101 N301 3N N-2 v3 -200 -292.0 292.0 J102 J302 1IN O +2 v3 -150 -12.0 12.0
R101 R301 3N N -2 v3 -200 -292.0 292.0 C1l C201 24 V +2 +Q -170 -62.0 62.0
J102 J302 3NN -2 v)J -200 -292.0 292.0 K1 K201 24 O +2 v6 -170 -62.0 62.0
F103 F303 3N N-2 v4 -200 -292.0 292.0 Q1 Q201 24 V+2 +Q -170 -62.0 62.0
C1l C201 3NN-3 v3 -300 -408.0 408.0 A2 A202 24 V +2 +Q -170 -62.0 62.0
Gl G201 3NN-3 v5 -300 -408.0 408.0 A3 A203 24 V +2 +Q -170 -62.0 62.0
S1 S201 3NS-3 v6 -300 -408.0 408.0 K3 K203 24 V +2 T -170 -62.0 62.0
Cc2 C202 3NN-3 v6 -300 -408.0 408.0 Q3 Q203 24 V +2 T -170 -62.0 62.0
E3 E203 3N N-3 v7 -300 -408.0 408.0 B101 B301 24 V +2 49 -170 -62.0 62.0
G3 G203 3NN-3 v2 -300 -408.0 408.0 R101 R301 2« V+2 +Q -170 -62.0 62.0
Q3 Q203 3NN-3 v2 -300 -408.0 408.0 H102 H302 24 V +2 +Q -170 -62.0 62.0
B101 B301 3N N-3 v8 -300 -408.0 408.0 N102 N302 24 V +2 +Q -170 -62.0 62.0
J101 J301 3N N-3 v4 -300 -408.0 408.0 D103 D303 2& V+2 +Q -170 -62.0 62.0
L101 L301 6¢ S-3 &2 -300 -408.0 408.0 L103 L303 24 V +2 +Q -170 -62.0 62.0
B102 B302 3N N-3 v7 -300 -408.0 408.0 P103 P303 24 V +2 +Q -170 -62.0 62.0
D102 D302 3NN-3 v4 -300 -408.0 408.0 E1l E201 24 V+3 +Q -200 -113.0 113.0
F102 F302 3N N -3 vQ -300 -408.0 408.0 13 1203 24 V +3 Y -200 -113.0 113.0
R103 R303 3N N-3 v4 -300 -408.0 408.0 E3 E203 24 V +4 LY -230 -167.0 167.0
T103 T303 3N N-3 v6 -300 -408.0 408.0 H103 H303 2« V +4 LY -230 -167.0 167.0
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17 41087543 Basta kontrakt 18 « DKn8 Basta kontrakt
Nord v D76 54 N =450 Ost v D95 2NTV =-120
Ingen + EK105 NS + ED96
»- & ¢ v & NT 953 & ¢ v &N
sE «D9 N5 7 9 117 «E1076 & K932 N4 7 6 45
v 982 v EKn10 S57 9 117 v2 v KKn87 S46645
¢+ DKNn86 ¢ 742 0843214 + 1073 + K85 0866 87
&#Kn8643 #KD1072 V85324 &#DKnl1072 #K4 V 8 6 6 88
& KKn62 454
v K543 vE10643
+93 ¢ Kn42
&E95 »E86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
K1 K201 5#D O -3 46 500 241.0 -241.0 S3 S203 44 V-2 v5 100 356.0 -356.0
E2 E202 5#D O -3 46 500 241.0 -241.0 R101 R301 34 O-1 +3 50 296.0 -296.0
T103 T303 5#D O -3 46 500 241.0 -241.0 H102 H302 24 V-1 +Q 50 296.0 -296.0
Al A201 44 N+1 &K 450 161.0 -161.0 T102 T302 Pass 232.0 -232.0
C1l C201 4e N+1 &K 450 161.0 -161.0 B102 B302 INO= v4 -90 104.0 -104.0
11 1201 44 N +1 &K 450 161.0 -161.0 02 0202 2v N-1 a3 -100 75.0 -75.0
M1 M201 44 N +1 &Q 450 161.0 -161.0 G2 G202 24 O= *2 -110 68.0 -68.0
Q1 Q201 44 N+1 &K 450 161.0 -161.0 M2 M202 24 V= &3 -110 68.0 -68.0
S1 S201 44 N +1 &K 450 161.0 -161.0 N102 N302 24 O= a5 -110 68.0 -68.0
A2 A202 44 N +1 &K 450 161.0 -161.0 N103 N303 24 O= *2 -110 68.0 -68.0
c2 C202 54 N= &K 450 161.0 -161.0 12 1202 1IN O +1 v3 -120 61.0 -61.0
G2 G202 44 N +1 &K 450 161.0 -161.0 Q2 Q202 INO +1 v2 -120 61.0 -61.0
K2 K202 44 N +1 &Q 450 161.0 -161.0 J102 J302 INO+1 v3 -120 61.0 -61.0
S3 S203 44 N +1 +4 450 161.0 -161.0 A2 A202 3#V +1 & Q -130 21.0 -21.0
F101 F301 4« N +1 &K 450 161.0 -161.0 C1l C201 24 V+1 &3 -140 10.0 -10.0
N101 N301 4« N +1 &K 450 161.0 -161.0 Gl G201 24 O +1 a5 -140 10.0 -10.0
R101 R301 44 N +1 &K 450 161.0 -161.0 11 1201 24 O +1 &3 -140 10.0 -10.0
T101 T301 44 N+1 &K 450 161.0 -161.0 M1 M201 24 V +1 &5 -140 10.0 -10.0
H102 H302 44 N +1 &K 450 161.0 -161.0 Q1 Q201 24 V+1 &3 -140 10.0 -10.0
F103 F303 44 N +1 &K 450 161.0 -161.0 S1 S201 24 V+1 &3 -140 10.0 -10.0
H103 H303 44 N +1 &K 450 161.0 -161.0 E2 E202 24 V +1 &9 -140 10.0 -10.0
J103 J303 44 N +1 *2 450 161.0 -161.0 S2 S202 24 V+1 v5 -140 10.0 -10.0
L103 L303 44 N +1 &K 450 161.0 -161.0 A3 A203 24 V +1 v5 -140 10.0 -10.0
N103 N303 54 N= &K 450 161.0 -161.0 C3 C203 24 V +1 &9 -140 10.0 -10.0
E1l E201 44 N= *2 420 119.0 -119.0 13 1203 24 V +1 &3 -140 10.0 -10.0
M2 M202 44 N= &K 420 119.0 -119.0 Q3 Q203 24 V+1 &3 -140 10.0 -10.0
S2 S202 44 N= &K 420 119.0 -119.0 B101 B301 24 V +1 &5 -140 10.0 -10.0
E3 E203 44 N= &K 420 119.0 -119.0 D101 D301 24 V+1 &3 -140 10.0 -10.0
03 0203 44 N= *2 420 119.0 -119.0 F101 F301 24 V+1 v5 -140 10.0 -10.0
Q3 Q203 44 S= +Q 420 119.0 -119.0 L101 L301 24 O +1 a5 -140 10.0 -10.0
D101 D301 44 N= &K 420 119.0 -119.0 D102 D302 24 V+1 v5 -140 10.0 -10.0
H101 H301 4« S= &K 420 119.0 -119.0 F102 F302 24 V+1 &3 -140 10.0 -10.0
L101 L301 44 N= &K 420 119.0 -119.0 P102 P302 24 V +1 &3 -140 10.0 -10.0
D102 D302 44 N= &K 420 119.0 -119.0 B103 B303 24 V+1 v5 -140 10.0 -10.0
L102 L302 44 S= *2 420 119.0 -119.0 F103 F303 34 O= a5 -140 10.0 -10.0
N102 N302 44 N= &K 420 119.0 -119.0 J103 J303 24 V +1 &2 -140 10.0 -10.0
P103 P303 44 N= &K 420 119.0 -119.0 P103 P303 24 O+1 &3 -140 10.0 -10.0
D103 D303 5#D O -2 46 300 -48.0 48.0 R103 R303 24 V +1 &3 -140 10.0 -10.0
Gl G201 34 N+2 +6 200 -187.0 187.0 T103 T303 24 V+1 &5 -140 10.0 -10.0
G3 G203 24 N +3 &K 200 -187.0 187.0 E3 E203 1IN O +2 v3 -150 8.0 -8.0
B101 B301 34 N +2 &K 200 -187.0 187.0 M3 M203 1IN O +2 v4 -150 8.0 -8.0
P102 P302 34 N +2 &K 200 -187.0 187.0 03 0203 INO +2 v3 -150 8.0 -8.0
02 0202 34 N+1 &K 170 -230.0 230.0 El E201 34 O+1 v3 -170 -42.0 42.0
Q2 Q202 34 N+1 &0Q 170 -230.0 230.0 Cc2 C202 24 V +2 &3 -170 -42.0 42.0
A3 A203 34 N +1 &K 170 -230.0 230.0 K3 K203 24 V +2 &9 -170 -42.0 42.0
B102 B302 34 N+1 &K 170 -230.0 230.0 H101 H301 24 O +2 &3 -170 -42.0 42.0
R102 R302 24 N +2 &K 170 -230.0 230.0 T101 T301 24 V +2 &3 -170 -42.0 42.0
12 1202 5# O -3 46 150 -258.0 258.0 L102 L302 24 O +2 *2 -170 -42.0 42.0
K3 K203 5& O -3 +3 150 -258.0 258.0 D103 D303 24 V +2 &3 -170 -42.0 42.0
M3 M203 3N O -3 v3 150 -258.0 258.0 H103 H303 24 V +2 &3 -170 -42.0 42.0
J102 J302 5# O -3 46 150 -258.0 258.0 L103 L303 24 V +2 &3 -170 -42.0 42.0
13 1203 4% O -2 +9 100 -324.0 324.0 K2 K202 24 V +3 &3 -200 -93.0 93.0
F102 F302 44 O -2 +9 100 -324.0 324.0 R102 R302 2v S-2 &Q -200 -93.0 93.0
B103 B303 4# O -2 46 100 -324.0 324.0 Al A201 3v S-3 &J -300 -227.0 227.0
R103 R303 4% O -2 & K 100 -324.0 324.0 K1 K201 3v S-3 &Q -300 -227.0 227.0
C3 C203 3# O-1 &5 50 -387.0 387.0 N101 N301 3v S-3 &0Q -300 -227.0 227.0
J101 J301 54 N-1 &K -50 -495.0 495.0 G3 G203 3v S-4 &Q -400 -347.0 347.0
T102 T302 5& N-1 &K -50 -495.0 495.0 J101 J301 3NDO= v3 -550 -517.0 517.0
19 & KKn107 Basta kontrakt 20 4874 Basta kontrakt
Syd vD10963 2v S =110 Vast v K10732 7¢ VD-41100
oV ¢ K1075 Alla +9
&»- & ¢ v & NT &#KDKn4 & ¢ v &N
863 & ED92 N5 7 8 6 5 @- & K65 N 104 10127
vE74 v Kn2 S57865 vDKn95 v384 S 114 10127
+ ED8 ¢ 632 085577 ¢+ 107432 ¢ EKD865 009300
&#Knl1084 #ED65 V86577 410983 #65 V09300
«54 « EDKn10932
v K85 vE6
+ Kn94 +Kn
#K9732 &E72
Par Kontr ut Res Poang Par Kontr ut Res Poang
03 0203 4vyDN= a9 590 566.0 -566.0 E2 E202 64 S= *2 1430 723.0 -723.0
A2 A202 3vyDN = *2 530 526.0 -526.0 H103 H303 64 S = *7 1430 723.0 -723.0
M3 M203 3N O -3 +9 300 268.0 -268.0 M1 M201 64D O -3 s A 800 199.0 -199.0
D101 D301 34 V-3 v9 300 268.0 -268.0 Gl G201 54 S+2 vQ 710 74.0 -74.0
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L101 L301 5& V-3 v9 300 268.0 -268.0 11 1201 44 N +3 vQ 710 74.0 -74.0
F103 F303 34 V-3 v9 300 268.0 -268.0 K1 K201 44 S+3 vQ 710 74.0 -74.0
M1 M201 44 O -2 v5 200 132.0 -132.0 A2 A202 44 S+3 vQ 710 74.0 -74.0
E2 E202 34 O-2 v5 200 132.0 -132.0 13 1203 54 S +2 vQ 710 74.0 -74.0
M2 M202 3NV -2 v3 200 132.0 -132.0 K3 K203 44 S +3 vQ 710 74.0 -74.0
E3 E203 34 V-2 v3 200 132.0 -132.0 Q3 Q203 44 S+3 vQ 710 74.0 -74.0
G3 G203 3N O -2 v8 200 132.0 -132.0 F101 F301 44 S +3 vQ 710 74.0 -74.0
13 1203 3NV -2 v3 200 132.0 -132.0 H101 H301 44 S +3 vQ 710 74.0 -74.0
Q3 Q203 3NV-2 v9 200 132.0 -132.0 R101 R301 44 S +3 vQ 710 74.0 -74.0
S3 S203 3NV -2 v3 200 132.0 -132.0 T101 T301 44 S+3 vQ 710 74.0 -74.0
J101 J301 3NV-2 v9 200 132.0 -132.0 D102 D302 54 S +2 vQ 710 74.0 -74.0
R101 R301 3NV -2 v3 200 132.0 -132.0 H102 H302 44 S +3 T 710 74.0 -74.0
T101 T301 3NV-2 v6 200 132.0 -132.0 N102 N302 54 S +2 vQ 710 74.0 -74.0
B102 B302 3NV -2 v9 200 132.0 -132.0 R102 R302 44 S +3 vQ 710 74.0 -74.0
J102 J302 3NV-2 +5 200 132.0 -132.0 J103 J303 44 S+3 vQ 710 74.0 -74.0
P102 P302 3NV -2 v3 200 132.0 -132.0 C1 C201 44 S+2 2 680 22.0 -22.0
H103 H303 3NV -2 v3 200 132.0 -132.0 El E201 44 S+2 2 680 22.0 -22.0
J103 J303 34 O-2 v2 200 132.0 -132.0 Cc2 C202 54 S+1 +9 680 22.0 -22.0
N103 N303 4% V-2 v9 200 132.0 -132.0 S2 S202 44 S +2 *7 680 22.0 -22.0
P103 P303 3NV -2 v9 200 132.0 -132.0 C3 C203 44 S+2 2 680 22.0 -22.0
C1 C201 3v N= 2 140 37.0 -37.0 M3 M203 44 S +2 2 680 22.0 -22.0
Cc2 C202 3v N= +3 140 37.0 -37.0 N101 N301 44 S +2 +3 680 22.0 -22.0
Q2 Q202 3v N= +6 140 37.0 -37.0 B102 B302 54 S+1 2 680 22.0 -22.0
R102 R302 3v N= 2 140 37.0 -37.0 F102 F302 44 S +2 2 680 22.0 -22.0
Al A201 2v S= &T 110 -16.0 16.0 J102 J302 44 S+2 +3 680 22.0 -22.0
12 1202 2v N = vlJ 110 -16.0 16.0 L102 L302 44 S+2 +3 680 22.0 -22.0
K3 K203 2v N = 2 110 -16.0 16.0 P102 P302 44 S+2 2 680 22.0 -22.0
El E201 3& V-1 v9 100 -19.0 19.0 B103 B303 44 S +2 +3 680 22.0 -22.0
K1 K201 24 O-1 v5 100 -19.0 19.0 D103 D303 54 S+1 2 680 22.0 -22.0
S1 S201 24 O-1 v6 100 -19.0 19.0 L103 L303 44 S +2 2 680 22.0 -22.0
C3 C203 3NV-1 *7 100 -19.0 19.0 N103 N303 44 S +2 2 680 22.0 -22.0
B101 B301 3# V-1 v3 100 -19.0 19.0 P103 P303 44 S+2 2 680 22.0 -22.0
H101 H301 34 O-1 vK 100 -19.0 19.0 Al A201 54 S= *9 650 -32.0 32.0
F102 F302 2v V-1 v9 100 -19.0 19.0 S1 S201 54 S= 2 650 -32.0 32.0
H102 H302 2N O-1 a5 100 -19.0 19.0 12 1202 44 S+1 *7 650 -32.0 32.0
L102 L302 24 O-1 vK 100 -19.0 19.0 K2 K202 54 N= *T 650 -32.0 32.0
N102 N302 3# O-1 v5 100 -19.0 19.0 M2 M202 54 S= vQ 650 -32.0 32.0
B103 B303 2N V-1 v3 100 -19.0 19.0 Q2 Q202 44 S+1 *7 650 -32.0 32.0
R103 R303 3# V-1 v9 100 -19.0 19.0 A3 A203 54 S= *T 650 -32.0 32.0
Q1 Q201 3v N-1 2 -50 -216.0 216.0 E3 E203 44 S+1 vQ 650 -32.0 32.0
S2 S202 3v N-1 +6 -50 -216.0 216.0 G3 G203 44 S+1 vQ 650 -32.0 32.0
A3 A203 3v N-1 v2 -50 -216.0 216.0 03 0203 44 S+1 vQ 650 -32.0 32.0
F101 F301 3v N-1 v2 -50 -216.0 216.0 Ji01 J301 54 S= 2 650 -32.0 32.0
N101 N301 3v N-1 2 -50 -216.0 216.0 L101 L301 54 S= *T 650 -32.0 32.0
D103 D303 3v N-1 2 -50 -216.0 216.0 T102 T302 54 S= 2 650 -32.0 32.0
L103 L303 3v N-1 2 -50 -216.0 216.0 R103 R303 44 S+1 vQ 650 -32.0 32.0
Gl G201 INO= v5 -90 -274.0 274.0 T103 T303 44 S+1 vQ 650 -32.0 32.0
T102 T302 INV= v6 -90 -274.0 274.0 S3 S203 5¢DO -2 s A 500 -236.0 236.0
K2 K202 3vDN-1 2 -100 -283.0 283.0 B101 B301 5¢D O -2 vA 500 -236.0 236.0
D102 D302 INDS-1 %] -100 -283.0 283.0 D101 D301 5¢DO-2 *J 500 -236.0 236.0
11 1201 34 O = v5 -110 -289.0 289.0 F103 F303 5¢D O -2 vA 500 -236.0 236.0
02 0202 24 O= v5 -110 -289.0 289.0 G2 G202 24 S+ &T 260 -503.0 503.0
G2 G202 4vDN -2 oA -300 -512.0 512.0 02 0202 5¢DO-1 vA 200 -561.0 561.0
T103 T303 3NV= ¢5 -600 -696.0 696.0 Q1 Q201 INO= a A -90 -715.0 715.0
21 4 Kn5 Basta kontrakt 22 K6 Basta kontrakt
Nord vKn742 64 O =-980 Ost v K103 6NT S =990
NS + D9865 oV ¢ EKn983
#93 % ¢ v & NT 987 & ¢ v & NT
4 ED1082 4943 N26212 4Kn983 4 D107542 N8 11116 11
vE8 vD10953 S36212 v Kn9 v742 S 8 12126 12
¢ E102 +3 O 107 11128 ¢ 652 +K 051171
#K105 #ED86 V 107 11128 #EKn32 #D65 V51171
4 K76 s E
v K6 v ED865
¢ KKn74 + D1074
#Kn742 K104
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
C3 C203 64 O -2 *J 100 513.0 -513.0 Al A201 4v S +2 +5 480 126.0 126.0
S3 S203 3NV -2 +6 100 513.0 -513.0 M1 M201 4v S +2 48 480 126.0 126.0
J103 J303 3N V-2 +5 100 513.0 -513.0 K2 K202 4v N +2 2 480 126.0 126.0
C1 C201 3NV-1 +5 50 470.0 -470.0 Q2 Q202 4v S +2 +6 480 126.0 126.0
C2 C202 3NV-1 2 50 470.0 -470.0 E3 E203 4v S+2 48 480 126.0 126.0
02 0202 3NV-1 +5 50 470.0 -470.0 13 1203 4v S +2 8 480 126.0 126.0
G3 G203 44 V-1 LX) 50 470.0 -470.0 D101 D301 4v S +2 2 480 126.0 126.0
03 0203 3NV-1 +5 50 470.0 -470.0 Ji01 J301 4y S+2 2 480 126.0 126.0
H101 H301 3N O-1 +6 50 470.0 -470.0 L101 L301 4v S+2 2 480 126.0 126.0
D102 D302 3NV -1 +6 50 470.0 -470.0 1102 L302 4y S+2 a4 480 126.0 126.0
B103 B303 4v O-1 *7 50 470.0 -470.0 R102 R302 4v S+2 48 480 126.0 126.0
L103 L303 3NV-1 ¢+5 50 470.0 -470.0 H103 H303 4v S +2 49 480 126.0 126.0
B102 B302 2v V= +5 -110 293.0 -293.0 L103 L303 4v S +2 a2 480 126.0 126.0
S2 S202 2v V+1 +5 -140 253.0 -253.0 C1 C201 3N S +2 43 460 75.0 -75.0
B101 B301 3NV= +6 -400 -66.0 66.0 M2 M202 3N N +2 a7 460 75.0 -75.0
Al A201 44 V= v4 -420 -104.0 104.0 M3 M203 3N N +2 a4 460 75.0 -75.0
Q1 Q201 44 O= +3 -420 -104.0 104.0 T101 T301 3NN +2 a4 460 75.0 -75.0
G2 G202 4v O= &T -420 -104.0 104.0 N102 N302 3NN +2 a5 460 75.0 -75.0
12 1202 44 V= +5 -420 -104.0 104.0 R103 R303 3NN +2 a4 460 75.0 -75.0
M2 M202 44 V= +5 -420 -104.0 104.0 02 0202 4v S+1 43 450 75.0 -75.0
13 1203 4e V= *9 -420 -104.0 104.0 S2 S202 4v S+1 a3 450 75.0 -75.0
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J101 J301 4e V= &9 -420 -104.0 104.0 F101 F301 4v S+1 LY:] 450 75.0 -75.0
L101 L301 4e V= +5 -420 -104.0 104.0 E1l E201 4v S= rY:] 420 18.0 -18.0
R101 R301 44 V= +3 -420 -104.0 104.0 G1 G201 4v S= a5 420 18.0 -18.0
T101 T301 44 O= &4 -420 -104.0 104.0 11 1201 49 N= LY:] 420 18.0 -18.0
J102 J302 4e V= +5 -420 -104.0 104.0 K1 K201 4v S= rY:] 420 18.0 -18.0
N102 N302 4e V= +5 -420 -104.0 104.0 Q1 Q201 4v S= a2 420 18.0 -18.0
P102 P302 4v V= *2 -420 -104.0 104.0 A2 A202 4v S= LY:] 420 18.0 -18.0
D103 D303 44 V= &9 -420 -104.0 104.0 Cc2 C202 4v S= a3 420 18.0 -18.0
H103 H303 4v V= +5 -420 -104.0 104.0 E2 E202 4v S= LX:] 420 18.0 -18.0
Q3 Q203 3NV +1 +5 -430 -105.0 105.0 G2 G202 4v N= T 420 18.0 -18.0
E1l E201 44 V +1 &9 -450 -158.0 158.0 A3 A203 4v S= rY:] 420 18.0 -18.0
11 1201 44 O +1 &3 -450 -158.0 158.0 C3 C203 4y N= & 420 18.0 -18.0
M1 M201 4s V +1 &3 -450 -158.0 158.0 G3 G203 4v S= LY:] 420 18.0 -18.0
S1 S201 44 O+1 &4 -450 -158.0 158.0 K3 K203 4v S= rY:] 420 18.0 -18.0
E2 E202 44 V +1 +5 -450 -158.0 158.0 03 0203 4v S= LX:] 420 18.0 -18.0
K2 K202 4e V +1 +3 -450 -158.0 158.0 Q3 Q203 4v S= LY:] 420 18.0 -18.0
Q2 Q202 44 O+1 v2 -450 -158.0 158.0 S3 S203 4v S= v9 420 18.0 -18.0
A3 A203 4e V +1 +5 -450 -158.0 158.0 H101 H301 4v S= LX:] 420 18.0 -18.0
K3 K203 4e V +1 +8 -450 -158.0 158.0 N101 N301 4v S= LY:] 420 18.0 -18.0
M3 M203 44 V +1 +6 -450 -158.0 158.0 B102 B302 4v S= LY:] 420 18.0 -18.0
D101 D301 44 O +1 &4 -450 -158.0 158.0 D102 D302 4v S= LX:] 420 18.0 -18.0
F101 F301 4v O+1 &4 -450 -158.0 158.0 F102 F302 4v S= LY:] 420 18.0 -18.0
F102 F302 4e V +1 &9 -450 -158.0 158.0 H102 H302 4v S= LY:] 420 18.0 -18.0
R102 R302 4« V +1 +6 -450 -158.0 158.0 J102 J302 4v S= L 420 18.0 -18.0
T102 T302 4e V+1 +6 -450 -158.0 158.0 P102 P302 4v S= v9 420 18.0 -18.0
F103 F303 44 V +1 &) -450 -158.0 158.0 B103 B303 4v S= +5 420 18.0 -18.0
R103 R303 4« O+1 +5 -450 -158.0 158.0 F103 F303 4v S= vlJ 420 18.0 -18.0
E3 E203 3NV +2 +5 -460 -159.0 159.0 N103 N303 4v S= 49 420 18.0 -18.0
H102 H302 3NV +2 +5 -460 -159.0 159.0 P103 P303 4v S= LY:] 420 18.0 -18.0
L102 L302 3NV +2 *4 -460 -159.0 159.0 T103 T303 4v S= L] 420 18.0 -18.0
Gl G201 44 V +2 &9 -480 -203.0 203.0 12 1202 5¢ N= LY 400 -22.0 22.0
K1 K201 4e V +2 &9 -480 -203.0 203.0 T102 T302 5¢ N= a4 400 -22.0 22.0
A2 A202 44 O +2 &4 -480 -203.0 203.0 B101 B301 6v S-1 rY:] -50 -550.0 550.0
N101 N301 4e V +2 &9 -480 -203.0 203.0 R101 R301 5¢ N-1 &5 -50 -550.0 550.0
N103 N303 4 V +2 &9 -480 -203.0 203.0 D103 D303 5¢ N-1 &4 -50 -550.0 550.0
P103 P303 44 V +2 &9 -480 -203.0 203.0 J103 J303 6v S-1 v9 -50 -550.0 550.0
T103 T303 44 O +2 a7 -480 -203.0 203.0 S1 S201 6v S-2 LY:] -100 -591.0 591.0
23 4104 Basta kontrakt 24 & D742 Basta kontrakt
Syd v EKn4 3¢ S =110 Vast v 8754 54 N D -2-300
Alla ¢ KKn10 Ingen ¢ Kn3
&#DKn762 & ¢ v & NT &K94 & ¢ v & NT
& Kn63 & KD9752 N9 95 45 410 sE N3 2495
v K108763 vD2 S9 9545 vDKn102 vE96 S32495
¢ 542 + D73 034787 ¢ K10974 D86 O 10119 4 6
&9 SEK V34787 #E106 &#DKn8732 V 10109 4 6
4 E8 & KKn98653
v95 vK3
+ E986 ¢ E52
#108543 &5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
c2 C202 44 O-2 v9 200 325.0 -325.0 N103 N303 34D S +1 vQ 630 650.0 -650.0
K3 K203 4v V-2 &Q 200 325.0 -325.0 E3 E203 44D S= vQ 590 633.0 -633.0
Gl G201 3« N+1 &K 130 239.0 -239.0 R103 R303 34DS= vQ 530 598.0 -598.0
N102 N302 3# N +1 & K 130 239.0 -239.0 C1l C201 44 S= T 420 525.0 -525.0
S2 S202 34 N= & K 110 187.0 -187.0 A2 A202 44 S= vQ 420 525.0 -525.0
B102 B302 3%« N = &K 110 187.0 -187.0 J102 J302 44 S= vJ 420 525.0 -525.0
F103 F303 3# N= &A 110 187.0 -187.0 B102 B302 34 S= vQ 140 243.0 -243.0
L103 L303 3& N= &K 110 187.0 -187.0 03 0203 54D O-1 a5 100 193.0 -193.0
E1l E201 44 O-1 &3 100 184.0 -184.0 L102 L302 54D O -1 v2 100 193.0 -193.0
11 1201 44 O-1 &3 100 184.0 -184.0 L103 L303 54D O -1 46 100 193.0 -193.0
Q1 Q201 44 O-1 v9 100 184.0 -184.0 Al A201 5# O-1 46 50 116.0 -116.0
S1 S201 44 O-1 v9 100 184.0 -184.0 E1l E201 5# O-1 46 50 116.0 -116.0
A2 A202 3v V-1 &Q 100 184.0 -184.0 11 1201 5# O -1 a3 50 116.0 -116.0
G2 G202 44 O-1 v9 100 184.0 -184.0 M1 M201 5# O -1 48 50 116.0 -116.0
12 1202 44 O-1 v9 100 184.0 -184.0 c2 C202 54 0O-1 46 50 116.0 -116.0
K2 K202 44 O-1 &3 100 184.0 -184.0 K2 K202 5# O -1 46 50 116.0 -116.0
A3 A203 44 O-1 v9 100 184.0 -184.0 02 0202 5 O-1 &5 50 116.0 -116.0
C3 C203 44 O-1 &T 100 184.0 -184.0 Q2 Q202 54 O-1 46 50 116.0 -116.0
13 1203 44 O -1 v9 100 184.0 -184.0 S2 S202 54 O-1 &5 50 116.0 -116.0
03 0203 2v V-1 T 100 184.0 -184.0 G3 G203 5# O-1 48 50 116.0 -116.0
S3 S203 34 O-1 v9 100 184.0 -184.0 13 1203 5# O -1 &5 50 116.0 -116.0
F101 F301 44 O-1 &3 100 184.0 -184.0 K3 K203 5& O -1 a2 50 116.0 -116.0
L101 L301 34 O-1 v9 100 184.0 -184.0 D101 D301 54 O-1 &5 50 116.0 -116.0
T101 T301 3v O-1 &3 100 184.0 -184.0 H102 H302 5# O-1 46 50 116.0 -116.0
H102 H302 44 O-1 v9 100 184.0 -184.0 P102 P302 5& O -1 49 50 116.0 -116.0
L102 L302 44 O-1 &2 100 184.0 -184.0 R102 R302 5# O-1 46 50 116.0 -116.0
P102 P302 3v V-1 *Q 100 184.0 -184.0 B103 B303 5& O -1 &5 50 116.0 -116.0
R102 R302 44 O-1 v9 100 184.0 -184.0 A3 A203 44 S-1 vT -50 -20.0 20.0
J103 J303 44 O-1 &2 100 184.0 -184.0 F101 F301 44 S-1 vQ -50 -20.0 20.0
R103 R303 44 O-1 v9 100 184.0 -184.0 T101 T301 44 S-1 vQ -50 -20.0 20.0
N103 N303 4# N -1 & K -100 -89.0 89.0 F102 F302 44 S-1 &A -50 -20.0 20.0
M1 M201 2v V= &Q -110 -93.0 93.0 H103 H303 44 S-1 vlJ -50 -20.0 20.0
M3 M203 2v O = s A -110 -93.0 93.0 Q1 Q201 44DS-1 vQ -100 -89.0 89.0
Al A201 34 O= &3 -140 -146.0 146.0 Q3 Q203 54 S-2 vQ -100 -89.0 89.0
C1l C201 34 O= &3 -140 -146.0 146.0 S3 S203 44D S-1 vQ -100 -89.0 89.0
K1 K201 34 O = &2 -140 -146.0 146.0 J101 J301 44DS-1 T -100 -89.0 89.0
M2 M202 34 O= v9 -140 -146.0 146.0 R101 R301 44D S-1 vQ -100 -89.0 89.0
02 0202 34 O= &3 -140 -146.0 146.0 N102 N302 44D S-1 vQ -100 -89.0 89.0
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Q202 24 O+1 v9 -140 -146.0 146.0 T102 T302 44DS-1 vQ -100 -89.0 89.0
E203 24 O +1 &3 -140 -146.0 146.0 D103 D303 44DS-1 T -100 -89.0 89.0
G203 34 O= »8 -140 -146.0 146.0 E2 E202 4% O = &5 -130 -126.0 126.0
B301 34 O= »3 -140 -146.0 146.0 N101 N301 4% O = &K -130 -126.0 126.0
D301 24 O+1 &3 -140 -146.0 146.0 D102 D302 4% O = +5 -130 -126.0 126.0
N301 34 O= &3 -140 -146.0 146.0 J103 J303 44 O = 46 -130 -126.0 126.0
R301 34 O= »3 -140 -146.0 146.0 12 1202 44 O +1 &5 -150 -157.0 157.0
D302 34 O= &8 -140 -146.0 146.0 F103 F303 44 O +1 vK -150 -157.0 157.0
B303 14 O +2 *A -140 -146.0 146.0 P103 P303 4# O +1 vK -150 -157.0 157.0
J302 34 O +1 »3 -170 -199.0 199.0 G2 G202 54DS-2 vQ -300 -330.0 330.0
E202 14 O +4 v9 -200 -229.0 229.0 M2 M202 54D S -2 aT -300 -330.0 330.0
Q203 INS-2 3 -200 -229.0 229.0 B101 B301 54D S -2 oT -300 -330.0 330.0
H301 34 O +2 &5 -200 -229.0 229.0 H101 H301 54D S-2 SA -300 -330.0 330.0
J301 24 O +3 v9 -200 -229.0 229.0 G1 G201 5 O= 49 -400 -449.0 449.0
F302 4# N -2 & K -200 -229.0 229.0 K1 K201 5& O = &5 -400 -449.0 449.0
D303 34 O +2 v9 -200 -229.0 229.0 S1 S201 54 O = 49 -400 -449.0 449.0
T303 INS-2 a3 -200 -229.0 229.0 C3 C203 5¢ V= a4 -400 -449.0 449.0
T302 5#D N -2 & K -500 -549.0 549.0 M3 M203 5¢ V= a2 -400 -449.0 449.0
P303 5&D N -2 a K -500 -549.0 549.0 L101 L301 5¢ V= a4 -400 -449.0 449.0
H303 44D O = v9 -790 -705.0 705.0 T103 T303 5# O = &5 -400 -449.0 449.0
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